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8 D‡¤§ Avqgvb L 26-30=5 75 45 45 165 82.5 gygZvR 1g

16 gvwiqvg L 25-30=6 75 45 45 165 82.5 gygZvR 1g

1 eykiv K 30-30=1 75 40 45 160 80 gygZvR 2q

7 gykwdKv K 27-30=4 73 40 45 158 79 Rv:wR: 3q

10 AvmgvRvgvb L 27-30=4 73 45 30 148 74 Rv:wR: 4

9 bvCgv M 28.13 c„s29-30=2.13 55 45 40 140 70 Rv:wR: 5

5 iædvB`v L 26-30=5 56 35 45 136 68 Rv:wR: 6

11 gvwiqvg L 26-30=5 55 40 40 135 67.5 Rv:wR: 7

15 jvwgqv (eo) K 22-30=9 50 40 45 135 67.5 Rv:wR: 7

2 bymivZ L 26-30=5 41 45 45 131 65.5 Rv:wR: 8

17 û‡iRvbœvZ L 22-30=9 40 45 45 130 65 Rv:wR: 9

14 bymvBev M 21-30=10 40 42 45 127 63.5 Rvwq¨` 10

4 mvwgqv K 02-30=4 35 40 45 120 60 ivwme 11

6 nvweev M 28-30=3 37 30 45 112 56 ivwme 12

3 nvdQv M 27-30=4 Aby:

12 ZvIwn`v K 21-30=10 Aby:

13 ûgvqiv L 23-30=8 Aby:

cix¶v_©x 17Rb| gy:Avjv:00Rb,gygZvR 03Rb,RvtwRt 08Rb,Rvwq¨` 01Rb,gvKeyj 02Rb,ivwme 02Rb,Aby: 03Rb|

gy:Avjv= 90-100 (cÖ‡Z¨K welq) 

gygZvR=80-89              

Rvwq¨` wRÏvb=65-79     

Rvwq¨`=50-64          

gvKeyj=40-49                           

ivwme= 0-39
wndR: 10cviv MÖæc

                   2q mvgwqK cixÿvi djvdj


